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FR20FEE NPV HIE -V HE (HEES)
2008%5H 118 (H) MEATEKI AT, 5 Nobis
1 2 3 4 5 6 g1
(BF188)] e | >~ w7 | bmii [H—atei| sl | EPSON B RuFE | F—LE | IEE
EEE& 3-2 5-0 3-2 5-0 5/25%& 4 0.6500 1
DAL 2-3 2-3 4-1 0-3 5-0 1 0.5652 3
AT 0-5 3-2 0-3 4-1 4-1 2 0.4783 2
F—ILiEA 2-3 1-4 0-3 3-2 3-2 1 0.3913 4
ERT 0-5 0-3 1-4 2-3 3-2 0 0.2609
EPSON | 5/256& | 0-5 1-4 2-3 2-3 0 0.2500
1 2 3 4 5 6
BY28A| KIEA [7Ux bo| sapd | %EEY [ AR | UFN B 2yFE | F—LEk | JEE
KHETIEA 5-0 13 9 5-0 3-2 3 0.8667
LRV 0-5 2-3 5-0 4-1 3-2 3 0.5600
SRERT 3-2 11 5-0 10 2 0.8000
E@Ey 0-5 14 0-5 0 0.0000
WAKS 0-5 1-4 0-5 12 0 0.0667
UFN 2-3 2-3 5-0 1 0.6000
1 2 3 4 5 6
By2f8 | mBC | CLmiliB | Bt | EHaaB] miks | Kekz || Bs RuFE | F—LE | IEE
REBC 5-0 13 9 5-0 5-0 3 1.0000
L HEHFEBR 0-5 2-3 2-3 3-2 5-0 2 0.4800
B, iR 3-2 11 3-2 10 2 0.6000
EBE RB 3-2 14 5-0 2 0.8000
HRE 0-5 2-3 2-3 12 0 0.2667
KHETILZ 0-5 0-5 0-5 0 0.0000
1 2 3 4 5 6 7 8 9 10
(7] | Efd | Sy itii | KBkA | @bt | Something|4—n 4] #imBe | Kirdkz | BBC UFN e | wuFE | Lk | B
EBER 37 33 29 2-0 3-0 3-0 25 21 3-0 4
[ 22 32 2-1 2-0 19 27 3-0 2-1 4
KETILA 18 2-0 3-0 28 3-0 2-1 36 4
mEATH 0-3 2-0 2-1 2-1 2-1 23 4
Something 0-2 1-2 0-2 3-0 3-0 0-2 3-0 0-2 3-0 0 9
+—iER|  0-3 0-2 0-3 0-2 0-3 2-1 0-2 1-2 0-2 -3 10
EREBC 0-3 1-2 2-0 1-2 34 24 31 1
AETILZ 0-3 1-2 0-3 2-0 30 20 1
BBC 0-3 1-2 1-2 2-0 2-1 26 2
UFN 0-3 1-2 0-3 2-0 1




